® 104872 December 12, 2011

Detex Corporation, 302 Detex Drive, New Braunfels, Texas 78130-3045
(830)629-2900 / 1-800-729-3839 / Fax (830)620-6711
E-MAIL: detex@detex.com INTERNET: www.detex.com

INSTALLATION INSTRUCTIONS FOR
DETEX® 02WP WIRE PULL TRIM

'ﬂl VAR T EJK ~ 02WP TRIM FOR ADVANTEX EXIT DEVICES

) 12" center to center X 4-1/2" offset X 1" diameter, Wire Pull
Drawing no. 105670

\

1/4-20x 2-3/4" PPH screws
p/n: 105624

\, o=
TN
D 1/4" Lockwasher

p/n: PP-5067-25

1 —02 Wire Pull
p/n: 105245-X

@\&y/p/n: 102271-144
Nage» 1/4" Finish washer

p/n: 102272-2

TOOLS AND SUPPLIES

Safety Glasses

<-\ (Always put on safety glasses prior
\ to beginning installation of unit)

Pencil
Center Punch
Hammer
Power Drill
Drill Bit & Tap Set
Screw Driver (Phillips Drive)
Tape Measure

E Owner's Copyj

104872 Page 1

1/4-20x 2-3/4" PFH screws




Door Prep for trim on device vertical ¢ mounting

(not to scale)

3-1/2"

(&P) SEE DEVICE TEMPLATE <

OUTSIDE
FACE
OF LOCK DEVICE
STILE VERTICAL
LHR DOOR

& 5/16"
(8mm)

¢
|
|
|
|

+—-——¢ pEvicE —— -

SEE DEVICE TEMPLATE \

40" (1016)
HEIGHT
(RECOMMENDED)
TO FINISHED
FLOOR

|

d

5

\\_9_

A
|

DEVICE

_|_

VERTICAL
%

N

@ 5/16"

I /(8mm)

& 5/16"
(8mm)

INSIDE
FACE OF
LOCK STILE
LHR DOOR

Trim installation

(Concealed Vertical Rod device installation shown)

Wire Pull mounted
on device vertical (E

Ty

Use 2-3/4" PPH screw
with lockwasher

BP12 backplate
shown

this hardware
supplied with
device

Wire Pull mounted beside* device vertical ¢ .
Note: may not be possible on narrow stile
aluminum applications.

Use PFH screw
without lockwasher

104872 Page 2

Coy

Use PFH screw
without lockwasher

this hardware
supplied with
device

*minimum between
pull ¢ and device ¢

| I Use PFH screw
i ‘ without lockwasher





